— MACURA

Accessory Application Publications No.
INSTALLATION SIDE UNDER SPOILERS 2011 TSX i
Issue Date
INSTRUCTIONS R
PARTS LIST TOOLS AND SUPPLIES REQUIRED

Left side under spoiler

Right side under spoiler

2 Clamps

4 5 x 18 mm Self-tapping screws

Template

2 Side lower brackets

2 Bottom brackets

4 Screws

© 2011 American Honda Motor Co., Inc. — All Rights Reserved.

BIl 44994 (1102)

Phillips screwdriver
Isopropyl alcohol

Shop towel

Masking tape

Utility knife

Gloves

8 mm Combination wrench
Touch-up paint

Tape measure

Felt-tip pen

lllustration of the Side Under Spoiler Installed on the
Vehicle

LEFT SIDE
UNDER SPOILER

RIGHT SIDE
UNDER SPOILER

08F04-TL2-2000-91 10f8




INSTALLATION

Client Information: The information in this installation
instruction is intended for use only by skilled
technicians who have the proper tools, equipment, and
training to correctly and safely add equipment to your
vehicle. These procedures should not be attempted by
“do-it-yourselfers.”

NOTE:

e Thoroughly clean the bottom of the body from the rear
of the front wheels to the front of the rear wheels.

* Be extremely careful not to damage the body paint
finish.

e These installation instructions show the left side under
spoiler being installed. The same procedure applies to
installing the right side under spoiler.

» This side under spoiler kit should be installed only if the
ambient air temperature is 15°C (60°F) or above.

¢ To allow the adhesive to cure, do not wash the vehicle
for 24 hours.

Open the driver’s door. Position the template
(marked FR) on the vehicle body. Using a felt-tip
pen, mark the vehicle body at the measurement
shown.

TEMPLATE (FR)

FRONT DOOR VEHICLE
(Open.) BODY
FELT-TIP PEN— |
TEMPLATE
(FR)

VEHICLE BODY “T” MARK

2. Position the template (marked CTR) on the vehicle
body. Using a felt-tip pen, mark the vehicle body at
the measurement shown.

FRONT
TEMPLATE (CTR)
VEHICLE
BODY
FELT-TIP PEN
~TEMPLATE
(CTR)
VEHICLE BODY  “T” MARK
20of8 BIl 44994 (1102) © 2011 American Honda Motor Co., Inc. — All Rights Reserved.



© 2011 American Honda Motor Co., Inc. — All Rights Reserved.

Open the left rear door. Position the template 6. Using isopropyl alcohol on a shop towel, clean the
(marked RR) on the vehicle body. Using a felt-tip area where the side under spoiler will attach.
pen, mark the vehicle body at the measurement
shown.
FRONT REAR DOOR
w Open. TEMPLATE
(RR) ATTACHING POSITION
Clean with isopropyl
alcohol.
VEHICLE @
BODY
SHOP TOWEL
FELT-TIP PEN— |
— TEMPLATE
VEHICLE BODY “T” MARK _ . . .
7. While wearing gloves, align the lug on the side lower
Using a utility knife, cut and remove 20 mm of bracket with the center of each “T” mark.
adhesive backing from each end of the side lower
bracket. V< “T» MARK
“T” MARK
FRONT | r»maRK  (CTR)
ADHESIVE BACKING
(Cut and remove.
(<
SIDE LOWER
BRACKET
Align.
ADHESIVE BACKING
Cut in the center and tape the ends SIDE LOWER
to the front of the bracket. (N BRACKET
NP
Align. —
5. Using a utility knife, cut the adhesive backing in the N SIDE VIEW d
center of the side lower bracket. Attach a piece of
masking tape to each of the cut ends, and tape them
to the front of the side lower bracket.
Bl 44994 (1102) 30f8



8. Raise the front of the side lower bracket to contact
the top of the “T” mark (FR). Press on the front of the
bracket (where you removed the adhesive backing)
lightly to adhere.

FRONT

“T” MARK (FR)

SIDE LOWER
BRACKET

AN, Press lightly.

SIDE LOWER
BRACKET

SIDE VIEW

9. Raise the rear of the side lower bracket to contact
the top of the “T” mark (RR). Press on the rear of the
bracket (where you removed the adhesive backing)
firmly to adhere.

“T” MARK (RR)

Press firmly.

“T” MARK (RR)

BRACKET A

SIDE VIEW

40f 8 Bl 44994 (1102)

10. Detach the front end of the side lower bracket where
you lightly pressed in step 8. Keep holding the end of
the bracket. Reposition the top of the bracket to the
top of the “T” mark (FR), and press on the front of the
bracket firmly to adhere.

“T” MARK (FR)

Temporarily S
detach.

“T" MARK
(FR) SIDE LOWER
( BRACKET
Press firmly.

SIDE LOWER
BRACKET

SIDE VIEW

© 2011 American Honda Motor Co., Inc. — All Rights Reserved.



11. Position the top of the side lower bracket to contact
the top of the “T” mark (CTR), and press on the
bracket to firmly adhere.

FRONT

3

“T” MARK
(CTR)

SIDE LOWER

“T” MARK

(CTR) BRACKET
Press \
firmly. _.L

== S LOWER
BRACKET
C y )
SIDE VIEW

12. Check that the side lower bracket is aligned with the
marks. Remove the two adhesive backings from the
side lower bracket, starting at the center and working
outward while lightly pressing on the bracket.

ADHESIVE BACKINGS

Press on the side lower bracket
lightly while removing the adhesive
backings from the center to the ends.

© 2011 American Honda Motor Co., Inc. — All Rights Reserved.

BIl 44994 (1102)

13. While wearing gloves, adhere the side lower bracket
by firmly pressing on the double-sided tape. Take
care not to press on the bracket mounting plates as
it can deform the plates. The side under spoiler
cannot be installed securely if the mounting plates
are bent.

SIDE LOWER BRACKET
A= Press on the entire surface of the
FRONT double-sided adhesive tape.

Press here with your

hand to adhere. Not necessary to

press here.

Not necessary to
press here.

(771
/7 Do not push
kx here.
Do not push
here.
. J

50f8



14. Turnthe steering wheel all the way counterclockwise.
Using a 5 x 18 mm self-tapping screw, make holes
through the clips in the left front inner fender.

LEFT FRONT
INNER FENDER

5x 18 mm
SELF-TAPPING
SCREW

15. Peel back the five ends of the adhesive backings on
the left side under spoiler and tape them to the front
surface of the under spoiler.

MASKING
TAPE

5 ADHESIVE BACKINGS
Peel back the ends and
tape them to the front
surface.

LEFT SIDE UNDER SPOILER

6 0of 8

BII 44994 (1102)

16. Slide the left side under spoiler rearward slightly while
pushing it against the vehicle body with both hands.

e Check the position of the side lower bracket
mounting plates (upper/lower) to the under
spoiler’s resin brackets. Install the left side under
spoiler securely.

* Make sure the molding is not folded in the area
shown.

LEFT SIDE
UNDER SPOILER
Slide the left side
under spoiler
rearward while
pushing it against
the vehicle body.

5 RESIN BRACKETS

SIDE LOWER
BRACKET
MOUNTING
PLATE
(UPPER)

SIDE LOWER
BRACKET
MOUNTING — |
PLATE
(LOWER)

LEFT SIDE
UNDER SPOILER
S

FRONT VIEW

4 N\
Take care not
0 to kink the
// N :
-\\//) / molding.
S<-

I

MOLDING

N4y

LEFT SIDE UNDER
SPOILER

© 2011 American Honda Motor Co., Inc. — All Rights Reserved.



17. Pull the left side under spoiler lightly toward you and
check that all five resin brackets fit on the side lower
bracket mounting plates securely. If the side under
spoiler is loose, repeat the installation procedure.

LEFT SIDE
UNDER SPOILER

WHEEL ARCH OF LEFT
SIDE UNDER SPOILER
(Tap it by hand.)

18. Gently tap on the left side under spoiler with your
hand to remove any gap between the wheel arch of
the left side under spoiler and inner fender.

19. Loosely install the two 5 x 18 mm self-tapping screws
into the two holes at the wheel arch of the left side
under spoiler.

WHEEL ARCH OF
LEFT SIDE UNDER
SPOILER

‘ VEHICLE
S PANEL
1
BOTTOM BOTTOM
BgAC?(ET BRACKET
SCREWS
/ FRONT VIEW
LEFT SIDE
UNDER SPOILER
SELF-TAPPING
SCREWS, 5 x 18 mm
(Loosely install.)
© 2011 American Honda Motor Co., Inc. — All Rights Reserved. BIl 44994 (1102) 70of 8

20. Using a utility knife, remove the undercoat from the
part of the vehicle panel where the bottom bracket
will be installed. Apply touch-up paint where you
removed the undercoat. Let the touch-up paint dry
thoroughly.

LEFT SIDE
* UNDER SPOILER

BOTTOM
BRACKET (JU >L ./
UNDERCOAT
(Remove.) UTILITY KNIFE

21. Install the bottom bracket in the position shown using

two screws.
FRONT LEFT SIDE
* UNDER SPOILER




22. Position the clamp on the bottom bracket and loosely

install the clamp bolt.

LEFT SIDE

FRONT
UNDER SPOILER

BOTTOM T R
BRACKET ‘!1 \

" BOTTOM

BRACKET
CLAMP
CLAMP BOLT
(Loosely install.)
FRONT VIEW

80of8

23. Remove the adhesive backings from the left side
under spoiler. Press firmly on the adhesive part of
the left side under spoiler.

* Pressonthe entire surface of the adhesive firmly
to secure the left side under spoiler.
e Take care not to press on the left side under
spoiler excessively, as it can deform the fender.
4 ADHESIVE BACKINGS
(Remove.)
FRONT  ADHESIVE BACKING Ay
‘ (Remove.)
.
ADHESIVE
Press firmly
to adhere.
ADHESIVE
Press firmly
to adhere.
SELF-
TAPPING <
SCREWS,
5x 18 mm
(Tighten
securely.) CLAMP BOLT
(Tighten securely.)
N
— — /
LEFT SIDE
UNDER SPOILER

24. Tighten the two 5 x 18 mm self-tapping screws.

25. Tighten the clamp bolt securely.

26. Repeat steps 1 thru 25 to install the right side under
spoiler on the right side of the vehicle.

BIl 44994 (1102) © 2011 American Honda Motor Co., Inc. — All Rights Reserved.



